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The study of improvement of air-conditioning system
energy consumption evaluating method in green
building evaluation index

Ruey-Lung Hwang
Department of Occupational Safety and Healthy
ChinaMedica University

Abstract

The EAC index for Green building evaluation system was developed for
central air-conditioning systems. VRV is not belong to central air-conditioning
system but still be compel to carry on EAC. Because some problems were found
during compliance, it needs to modify the EAC equation for VRV system.

The influence of oversize ratio of VRV system on EAC is in a small extent
rather than in proportional way, indicated in EAC equation. The energy saving
coefficient t (a4) of VRV should be a function of IPLV not a constant value of 0.2.
The weighting factors of energy consumption for outdoor units (plant system) and
indoor units (fan system) was adjusted to 0.9:0.1 for VRV system.

Keywords: EAC, VRV, Green Building
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